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(1) sin (:E—i— %) = |:|sin:c—|— |:|C05x (2) cos (x—l— %) = |:|Sinx+ |:|cosx
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(1) sin (%77 — a:) = |:| sinx + |:| cos T (2) cos (x — %7‘(‘) = |:| sinx + |:| cosx

(3) sin17277:sin<| T |+| s |)

-
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@® sin(a+ B) = sinacos B + cos asin 3
G5z 0% $mi

@ cos(a = B) =cosacos3 F sinasin3
2IT MES AT R

(1) sin (:L'-l— %) = |:|sinx—|— |:|cos:r (2) cos (x—l— %) = |:|sinx+ |:|cosac

sin (m—i— %) = sinxcos% +cosxsin% cos (x—l— %) :cosxcos% —sinxsin%
1 . 1
Z%sinx—k \ggcosx :_WSIHI+ ﬁcos:c

(3) COS{TQZCOS( s — T )

cos = = cos (1 — ﬂ)
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(1) sin (%77 — J:) = |:| sinx + |:| cos T (2) cos (x — %7‘(‘) = |:| sinx + |:| cosx

sin (éﬂ' — x) = sin éﬂ' COS T — COS éﬂ' sinx cos (x — éﬂ') = COS T COS é?’l’ + sin z sin éﬂ'
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= \/gsinz+lcosx :—\/gsinx+ -1 cosT
2 2 2 2

3) sin Lﬂ' = sin s +

sin -7 — sin (1 + %) - EZ (EHA)
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